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Algebra 2 - Mr. Cantlin *ALL. WORK ON LOOSELEAF* Name A NI W2 Y

8-17-09 Homework - Worksheet Ch. 1-3 Date Period
Solve each equation. Check each answer.
1) 4=n+14 2) 31=m+20
3) r+8=6 4) x-12=-27
m 6) —17=—17x
5) 3=—
17
5 8) 12n=—144
L2 ) 12n
4 4
301 2 3
9 —=—u 10) —v=—
5 2 5 5
11) x+8-6x=23 12) —x —5x=24
13) =36 =—6(1 +n) 14) 8(1 + 3k) = 80
15) =7(1 = x) = 7(4 + 6x) 16) 73+ 7p)+8=6(7p—1)
,,,,,, o /4.\: r .
’f/

Answers to 8-17-09 Homework - Worksheet Ch. 1-3

1) {-18} 2) {11} 3) {-2} -

5) {51} 6) {1} 7) {5} ;3 %—Bi

0 g} 10) {%} 11) {-3} 12) {-4} |
13) {5} 14y {3} 15) {-1) 16) {-5)
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